VC22-04-01 Green River Road Trail Phase 1 - High Tower Dr. to Millersburg Rd.

				RAGLE INC.		JBI CONSTRUCTION INC.		BLANKENBERGER BROS.	
Pay Item	Description	QTY	Units	Unit Price	Unit Price Extension	Unit Price	Unit Price Extension	Unit Price	Unit Price Extension
105-06845	CONSTRUCTION ENGINEERING	1	LS	\$158,500.00	\$158,500.00	\$68,000.00	\$68,000.00	\$30,000.00	\$30,000.00
110-01001	MOBILIZATION AND DEMOBILIZATION	1	LS	\$223,000.00	\$223,000.00	\$240,000.00	\$240,000.00	\$400,000.00	\$400,000.00
201-01015	CLEARING AND GRUBBING	1	LS	\$90,000.00	\$90,000.00	\$87,500.00	\$87,500.00	\$22,450.00	\$22,450.00
201-52370	CLEARING RIGHT OF WAY	1	LS	\$90,000.00	\$90,000.00	\$54,750.00	\$54,750.00	\$229,000.00	\$229,000.00
202-02279	CURB AND GUTTER, REMOVE	547	LFT	\$3.50	\$1,914.50	\$12.50	\$6,837.50	\$14.90	\$8,150.30
202-51328	PRESENT STRUCTURE, REMOVE PORTIONS	1	LS	\$90,000.00	\$90,000.00	\$55,000.00	\$55,000.00	\$20,000.00	\$20,000.00
202-52710	SIDEWALK, CONCRETE, REMOVE	51	SYS	\$28.00	\$1,428.00	\$12.00	\$612.00	\$35.00	\$1,785.00
202-93615	CONCRETE, REMOVE	1	SYS	\$90.00	\$90.00	\$115.00	\$115.00	\$50.80	\$50.80
203-02000	EXCAVATION, COMMON	8,119	CYS	\$30.00	\$243,570.00	\$33.00	\$267,927.00	\$31.00	\$251,689.00
205-12108	STORM WATER MANAGEMENT BUDGET	45,000	DOL	\$1.00	\$45,000.00	\$1.00	\$45,000.00	\$1.00	\$45,000.00
207-08264	SUBGRADE TREATMENT, TYPE II	105	SYS	\$20.00	\$2,100.00	\$22.00	\$2,310.00	\$59.50	\$6,247.50
207-08266	SUBGRADE TREATMENT, TYPE III	2,459	SYS	\$1.60	\$3,934.40	\$10.00	\$24,590.00	\$4.80	\$11,803.20
207-09935	SUBGRADE TREATMENT, TYPE IC	607	SYS	\$52.50	\$31,867.50	\$40.00	\$24,280.00	\$69.00	\$41,883.00
211-02050	B BORROW	1,031	CYS	\$40.00	\$41,240.00	\$72.00	\$74,232.00	\$80.00	\$82,480.00
211-06467	AGGREGATE FOR END BENT BACKFILL	34	CYS	\$100.00	\$3,400.00	\$165.00	\$5,610.00	\$101.75	\$3,459.50
211-09266	STRUCTURE BACKFILL, TYPE 3	9,037	CYS	\$58.00	\$524,146.00	\$65.00	\$587,405.00	\$76.00	\$686,812.00
211-09268	STRUCTURE BACKFILL, TYPE 5	489	CYS	\$165.00	\$80,685.00	\$165.00	\$80,685.00	\$215.00	\$105,135.00
214-11796	GEOGRID, TYPE IB	105	SYS	\$5.00	\$525.00	\$8.50	\$892.50	\$11.00	\$1,155.00
302-07455	DENSE GRADED SUBBASE	14	CYS	\$110.00	\$1,540.00	\$485.00	\$6,790.00	\$285.00	\$3,990.00
303-01180	COMPACTED AGGREGATE NO. 53	397	TON	\$68.25	\$27,095.25	\$68.00	\$26,996.00	\$91.00	\$36,127.00
303-08210	COMPACTED AGGREGATE NO. 53, TEMP. DRIVEWAYS	44	TON	\$60.00	\$2,640.00	\$50.00	\$2,200.00	\$50.00	\$2,200.00
304-07490	HMA FULL DEPTH PATCHING	20	TON	\$320.00	\$6,400.00	\$320.90	\$6,418.00	\$320.90	\$6,418.00
305-07464	PCC BASE PATCHING, 8.5 IN	104	SYS	\$40.00	\$4,160.00	\$48.50	\$5,044.00	\$175.60	\$18,262.40
305-07468	CONCRETE FULL DEPTH PATCHING	1	SYS	\$680.00	\$680.00	\$432.00	\$432.00	\$195.25	\$195.25
406-05521	ASPHALT FOR TACK COAT	6,923	SYS	\$0.15	\$1,038.45	\$0.15	\$1,038.45	\$0.15	\$1,038.45
601-01522	GUARDRAIL, TRANSITION, TYPE TGB	1	EA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$5,250.00	\$5,250.00
601-07050	GUARDRAIL END TREATMENT, OS	3	EA	\$3,500.00	\$10,500.00	\$3,500.00	\$10,500.00	\$5,025.00	\$15,075.00
601-12281	GUARDRAIL, W-BEAM, 6 FT 3 IN SPACING	290	LFT	\$28.00	\$8,120.00	\$28.00	\$8,120.00	\$34.50	\$10,005.00
603-98225	FENCE, CHAIN LINK, PVC COATED, 48"	5,664	LFT	\$23.70	\$134,236.80	\$23.70	\$134,236.80	\$49.25	\$278,952.00

				RAGL	E INC.	JBI CONSTR	JBI CONSTRUCTION INC.		BLANKENBERGER BROS.	
Pay Item	Description	QTY	Units	Unit Price	Unit Price Extension	Unit Price	Unit Price Extension	Unit Price	Unit Price Extension	
604-05528	PAVEMENT, TRAIL, HMA	5,851	SYS	\$45.00	\$263,295.00	\$44.00	\$257,444.00	\$53.55	\$313,321.05	
604-06070	SIDEWALK, CONCRETE	57	SYS	\$150.00	\$8,550.00	\$48.00	\$2,736.00	\$165.00	\$9,405.00	
604-07894	CURB RAMP, CONCRETE	206	SYS	\$145.00	\$29,870.00	\$158.00	\$32,548.00	\$225.00	\$46,350.00	
604-12083	DETECTABLE WARNING SURFACES	21	SYS	\$220.00	\$4,620.00	\$234.00	\$4,914.00	\$350.00	\$7,350.00	
605-06140	CURB AND GUTTER, CONCRETE	505	LFT	\$40.00	\$20,200.00	\$35.00	\$17,675.00	\$75.90	\$38,329.50	
609-06259	REINFORCED CONCRETE BRIDGE APPROACH, 12 IN	75	SYS	\$180.00	\$13,500.00	\$275.00	\$20,625.00	\$345.00	\$25,875.00	
610-07487	HMA FULL DEPTH PAVEMENT	223	TON	\$195.00	\$43,485.00	\$144.00	\$32,112.00	\$144.00	\$32,112.00	
610-09108	PCCP FOR APPROACHES, 9 IN	105	SYS	\$105.00	\$11,025.00	\$80.00	\$8,400.00	\$105.00	\$11,025.00	
616-05688	RIPRAP, CLASS I	310	TON	\$60.00	\$18,600.00	\$130.00	\$40,300.00	\$77.80	\$24,118.00	
616-12246	GEOTEXTILE FOR RIPRAP TYPE 1A	407	SYS	\$2.50	\$1,017.50	\$10.00	\$4,070.00	\$3.00	\$1,221.00	
616-06405	RIPRAP, REVETMENT	346	TON	\$62.50	\$21,625.00	\$75.00	\$25,950.00	\$75.60	\$26,157.60	
616-12248	GEOTEXTILE FOR RIPRAP TYPE 2A	732	SYS	\$2.00	\$1,464.00	\$3.50	\$2,562.00	\$3.00	\$2,196.00	
621-01004	MOBILIZATION AND DEMOBILIZATION FOR SEEDING	4	EA	\$1,250.00	\$5,000.00	\$1,250.00	\$5,000.00	\$1,250.00	\$5,000.00	
621-06560	MULCHED SEEDING, U	16,030	SYS	\$0.39	\$6,251.70	\$0.39	\$6,251.70	\$0.39	\$6,251.70	
621-06567	WATER	3,465	kGAL	\$1.00	\$3,465.00	\$1.00	\$3,465.00	\$1.00	\$3,465.00	
621-06574	SODDING	678	SYS	\$9.25	\$6,271.50	\$15.00	\$10,170.00	\$6.50	\$4,407.00	
628-09402	FIELD OFFICE, TYPE B	12	MOS	\$2,300.00	\$27,600.00	\$2,250.00	\$27,000.00	\$2,350.00	\$28,200.00	
701-06011	DYNAMIC PILE LOAD TEST	2	EA	\$6,500.00	\$13,000.00	\$2,500.00	\$5,000.00	\$7,000.00	\$14,000.00	
701-09558	TEST PILE, INDICATOR, PRODUCTION	109	LFT	\$95.00	\$10,355.00	\$128.00	\$13,952.00	\$201.00	\$21,909.00	
701-09560	TEST PILE, INDICATOR, RESTRIKE	2	EA	\$3,500.00	\$7,000.00	\$2,500.00	\$5,000.00	\$5,050.00	\$10,100.00	
701-09683	PILE SHOE, HP 12 X 74	4	EA	\$150.00	\$600.00	\$140.00	\$560.00	\$171.75	\$687.00	
701-95780	PILE, STEEL H, HP 12 X 74	89	LFT	\$200.00	\$17,800.00	\$175.00	\$15,575.00	\$198.50	\$17,666.50	
702-51005	CONCRETE, A, SUBSTRUCTURE	42	CYS	\$1,800.00	\$75,600.00	\$1,500.00	\$63,000.00	\$2,080.00	\$87,360.00	
702-51863	FIELD DRILLED HOLE IN CONCRETE	156	EA	\$15.00	\$2,340.00	\$25.00	\$3,900.00	\$52.25	\$8,151.00	
703-06029	REINFORCING BARS, EPOXY COATED	25,651	LBS	\$2.10	\$53,867.10	\$3.00	\$76,953.00	\$2.90	\$74,387.90	
704-51002	CONCRETE, C, SUPERSTRUCTURE	56	CYS	\$1,250.00	\$70,000.00	\$1,600.00	\$89,600.00	\$1,545.00	\$86,520.00	
706-06351	CONCRETE BRIDGE RAILING TRANSITION, TPF-1	2	EA	\$2,750.00	\$5,500.00	\$2,500.00	\$5,000.00	\$5,300.00	\$10,600.00	
706-09963	RAILING, CONCRETE PF-1	114	LFT	\$135.00	\$15,390.00	\$109.00	\$12,426.00	\$180.00	\$20,520.00	
706-11404	RAILING, STEEL, PF-1	114	LFT	\$95.00	\$10,830.00	\$95.00	\$10,830.00	\$220.00	\$25,080.00	
707-05985	STRUCTURAL MEMBER, CONCRETE, I-BEAM, 54"X20"	222	LFT	\$700.00	\$155,400.00	\$750.00	\$166,500.00	\$900.00	\$199,800.00	

		RAGLE INC. JBI CONSTRUCTION INC.		UCTION INC.	BLANKENBERGER BROS.				
Pay Item	Description	QTY	Units	Unit Price	Unit Price Extension	Unit Price	Unit Price Extension	Unit Price	Unit Price Extension
709-51821	SURFACE SEAL	1	LS	\$3,500.00	\$3,500.00	\$1.00	\$1.00	\$8,000.00	\$8,000.00
715-05407	PIPE, END BENT DRAIN, 6 IN	66	LFT	\$20.00	\$1,320.00	\$12.00	\$792.00	\$23.00	\$1,518.00
715-05149	PIPE, TYPE 2, CIRCULAR, 12 IN.	115	LFT	\$73.50	\$8,452.50	\$75.00	\$8,625.00	\$120.00	\$13,800.00
715-05151	PIPE, TYPE 2, CIRCULAR, 15 IN.	6	LFT	\$105.00	\$630.00	\$105.00	\$630.00	\$165.00	\$990.00
715-05154	PIPE, TYPE 2, CIRCULAR, 18 IN	0	LFT		\$0.00	\$250.00	\$0.00	\$735.00	\$0.00
715-05422	PIPE, SLOTTED DRAIN, 12 IN	331	LFT	\$68.50	\$22,673.50	\$190.00	\$62,890.00	\$325.00	\$107,575.00
715-46000	PIPE END SECTION, DIA. 12 IN	13	EA	\$750.00	\$9,750.00	\$750.00	\$9,750.00	\$900.00	\$11,700.00
715-46020	PIPE END SECTION, DIA. 18 IN	1	EA	\$860.00	\$860.00	\$950.00	\$950.00	\$1,300.00	\$1,300.00
720-44000	CASTING, ADJUST TO GRADE	1	EA	\$950.00	\$950.00	\$650.00	\$650.00	\$1,000.00	\$1,000.00
720-45030	INLET, E7	2	EA	\$3,200.00	\$6,400.00	\$3,150.00	\$6,300.00	\$3,000.00	\$6,000.00
720-45045	INLET, J10	2	EA	\$3,200.00	\$6,400.00	\$3,750.00	\$7,500.00	\$3,500.00	\$7,000.00
720-45415	MANHOLE, D4	1	EA	\$6,350.00	\$6,350.00	\$6,250.00	\$6,250.00	\$4,500.00	\$4,500.00
720-90352	MANHOLE, D8	2	EA	\$7,500.00	\$15,000.00	\$9,250.00	\$18,500.00	\$6,500.00	\$13,000.00
720-98174	INLET, B15	1	EA	\$3,950.00	\$3,950.00	\$3,750.00	\$3,750.00	\$4,500.00	\$4,500.00
724-51925	STRUCTURAL EXPANSION JOINT, SS	36	LFT	\$400.00	\$14,400.00	\$200.00	\$7,200.00	\$535.00	\$19,260.00
732-11810	MODULAR BLOCK WALL WITH GROUND REINF.	27,645	SF	\$18.00	\$497,610.00	\$14.00	\$387,030.00	\$10.00	\$276,450.00
732-11811	MODULAR BLOCK WALL ERECTION.	27,645	SF	\$11.50	\$317,917.50	\$22.00	\$608,190.00	\$20.25	\$559,811.25
80106775	MAINTENANCE OF TRAFFIC	1	LS	\$275,000.00	\$275,000.00	\$350,000.00	\$350,000.00	\$205,436.47	\$205,436.47
802-05701	SIGN POST, SQUARE TYPE 1 REINFORCED ANCHOR	451	LFT	\$20.00	\$9,020.00	\$30.00	\$13,530.00	\$30.00	\$13,530.00
802-09838	SIGN SHEET, WITH LEGEND, 0.080 IN	198	SFT	\$20.00	\$3,960.00	\$23.00	\$4,554.00	\$23.00	\$4,554.00
802-09838	SIGN SHEET, WITH LEGEND, 0.100 IN	72	SFT	\$22.00	\$1,584.00	\$24.50	\$1,764.00	\$24.50	\$1,764.00
805-79040	TRAFFIC SIGNAL MODERNIZATION	1	LS	\$85,000.00	\$85,000.00	\$30,120.00	\$30,120.00	\$30,120.00	\$30,120.00
808-03439	TRANSVERSE MARKING, THERMOPLASTIC, CROSSWALK LINE, 24 IN	536	LFT	\$7.95	\$4,261.20	\$7.95	\$4,261.20	\$7.95	\$4,261.20
808-75215	LINE, THERMOPLASTIC, SOLID, WHITE, 12 IN	346	LFT	\$3.98	\$1,377.08	\$3.98	\$1,377.08	\$3.98	\$1,377.08
808-75245	LINE, THERMOPLASTIC, SOLID, YELLOW, 4 IN	6,535	LFT	\$0.60	\$3,921.00	\$0.60	\$3,921.00	\$0.60	\$3,921.00
808-75297	TRANSVERSE MARKING, THERMOPLASTIC, STOP LINE, WHITE, 24 IN	26	LFT	\$7.95	\$206.70	\$7.95	\$206.70	\$7.95	\$206.70
R1	GOEBEL SOCCER PARK ENTRANCE	1	LS	\$145,000.00	\$145,000.00	\$128,000.00	\$128,000.00	\$246,086.40	\$246,086.40
R2	SCOUR PROTECTION	36,040	SF	\$6.00	\$216,240.00	\$7.50	\$270,300.00	\$12.50	\$450,500.00
R3	SPEED LIMIT ASSEMBLY, SOLAR POWERED	2	EA	\$15,000.00	\$30,000.00	\$16,800.00	\$33,600.00	\$16,800.00	\$33,600.00

				RAGL	E INC.	JBI CONSTRUCTION IN		BLANKENBERGER BROS.	
Pay Item	Description	QTY	Units	Unit Price	Unit Price Extension	Unit Price	Unit Price Extension	Unit Price	Unit Price Extension
R4	FIRE HYDRANT AND VALVE ASSEMBLY, RELOCATE	4	EA	\$2,500.00	\$10,000.00	\$12,200.00	\$48,800.00	\$12,800.00	\$51,200.00
BASE BID TOTAL:					\$4,456,066.18		\$4,819,481.93		\$5,569,139.75

Pay Item Base Bid	Pay Item Description Alternate Bid Direct Replacements	Quantity	Units	Unit Price	Unit Price Extension	Unit Price	Unit Price Extension	Unit Price	Unit Price Extension
	Delete Base Bid Item #604-05528	5851			\$1.25 \$358,373.75 \$5		\$315,954.00	\$62.75	\$367,150.25
A1.1	PAVEMENT, TRAIL, HMA and		SYS	¢61.25		\$54.00			
AI.I	Replace w/ Bid Item A1.1	3631	313	\$01.23		\$34.00			
	PAVEMENT, TRAIL, CONCRETE								